
Sylvania (black) vs W.Creek (gray) 2-wk smooth daily NEE
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Sylvania (black) vs W.Creek (gray) 2-wk smooth daily Resp
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Sylvania (black) vs W.Creek (gray) 2-wk smooth daily Psyn
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Sylvania (black) vs Willow Creek (gray) cumulative NEE
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Sylvania (black) vs Willow Creek (gray) cumulative Resp
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Sylvania (black) vs Willow Creek (gray) cumulative Psyn
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NEE Comparison 1:1
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Wcreek_nee = 2.67*Syl_nee + -0.20



Respiration Comparison 1:1
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Photosynthesis Comparison 1:1
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Nighttime Respiration Fit Sylvania 2002 Mo: 1-12
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R(T) = 1e6 * kT/h * exp( -(115.1 - (T * 0.05189))/R*T

rsq = 0.73 n = 3020



Nighttime Respiration Fit Sylvania 2002 wcreek

0 5 10 15 20
Temp (C)

0

2

4

6

8

10

12

14

u
m
o
l
 
C
O
2
/
m
^
2
 
s

R(T) = 1e6 * kT/h * exp( -(79.27 - (T * -0.07564))/R*T

rsq = 0.49 n = 4149



PAR vs Photosynthesis Sylvania 2002 Mo: 6  7  8
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Psyn = (( 26.0 * PAR ) / ( 549. + PAR )) - 1.18

rsq = 0.70 n = 1454



PAR vs Photosynthesis Sylvania 2002 Wcreek
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